EARAZROREIERT — 2 N—XBISY —F 201355868 (A) 2EMiEIH

m,s\t; S LU—FIBHES4ER C1C2 Yo% —#% ‘ [Xiz] % ‘ [eErsm]  — | & (%) 1800M B
[A&4£] 1 7% :1,800,000 23 :540,000 @ 33 :360,000  ~ 43#&:216,000 @ . 5 & :144,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N SHER 156. —6-5- . — EHEE— (1)
i o | 7HYA-LL 6 i 1(5_6)3 6-6-5-3 | 38.7 3 ;1_577) U
Y rvsOo—LiL BixAV—ILTT I7VT75TT =14
VS > 4 | BEEXH 1:56. 2-2-2-2 4| - 1 4 KSEE (fafs)
215|5| A& cO>og v F - 55.0 (/?3—? & (:jg) ﬁ;%
Z:€r/07Oo4 B:FAI¥LACX FRESS
2 . i o4 | EEHZ 1:56.8 4-4-3-4 | 39.6| — 2 484 | MREA (#048)
3lglg|E¥¥rvLA> 57.0 2 1/2) (o) | MIES
R:F4—=T14>N0 b+ Bhevral)— HET7—L
EREHHR : —-3-4-! = gARTX (J11155)
4 NEEEFE 5 Em%3 1(.5/%9 3-3-4-5 |39.6 5 g) L
L:F—TNTN—h BTAIRK/H =i BB
- N ERAHEH :57. -1-1- . — HIlES (1)
5 4 2S5 TINIT Y 4 5 5%.0 1(15/72)0 1-1-1-1 | 40.5 4 ;1+770) s i
R4 x 0 ML B YA KTy T HET7—L
N 68 o bHIE . —5-6- = e 113
6 NE Y P2 A Y 4 6 fsﬁﬁﬂz 1.(517).2 5-5-6-6 | 39.4 6 (4:520) ggéi (J11ie)
L:TITRAFTEN B v Ky T710 RS
S “ - +2 =E R :58. -7-7- . — 1EES (KH)
7111 |*T¥avvix X 1(57%6 [ ! ?_684) HE—R
x4 37FI Ry BiXA4230T7vR FH BE
e ] # o4 | HEEH = g - = | =] - |[xmmz mm
|77 |V Koty H— 5.0 (BH) (—) EﬁEIi(EBE
RV RKYTZYRXIR B:iA—v—FKLyoA () #8a—-FL—>a>@qE77

® 1 —F—@EBIBfL

| S=zr= 4,5,3,8,6,2,1
2al=3r= 4,5,3,8,6,2,1
JA=3z"= 4,5,8,3,2,6,1
Adx=zr= 4,5,2,8,3,6,1
o LRE
BB 2 610 | | 71 K 2-5 190/ 5= 2-5 640M 3EE 2-5-8 270M
7 B 2 230H 2-8 190H BB 2-5 1,640MH EE 2-5-8 2,830M
5 150/ 5-8 1201

ABICOVWTRDTEEERROODE. TR LIV,



